IR IREROIIRE RiAH

&arl6

Tr274E3A18R%E
#ux 1 R 2T BrE pa) =
Om&BI5R 10 20 0 25 55
1%2I5A 3 1 0 3 7
225 R 3 3 0 9 15
16 24 0 37 77

EDHXTOmRKE% 1m&%IE9% 2mIB13RDAFMMLA
BTHIXTOmREI9% 1m&/E10% DAFMPMLIARIA

¥

FRi29F3A 1B RA(FR27E3A DR EERZECIEXBOAFREERELEED)

#ux H IR 2T Bt 7 & 5t
Om&/2I5R 10 11 0 16 37
1%2I5A 3 0 0 0 3
2% 8IS R 3 3 0 0 6
16 14 0 16 46
(2%)
ER275F4RA 18RE
#x H IR =S Bt 7 =
Om&/BI5R 0 0 0 0 0
1%BI5A 1 5 0 1 7
2i%BI5R 0 0 0 0 0
1 5 0 1 7
Tr%2758A 1BIRTE
#ux H IR = Bt 7 a3
0i%BI35R 0 0 0 0 0
15254 1 5 0 2 8
2k B3R 0 0 0 0 0
1 5 0 2 8




